[ Efficiency vs vertpos |
~0.02

TS NS N S— -

.................................................

.................................................

.................................................

10 0?
TP vertr (cr%)

—=— DQM_V000L_R000000001__Global__mkFit_baseline
Efficiend —— pom_v0001_R000000001__Global__mkFit_var

=30 -20 -10 O 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |

~ 0.0l - - T T T
> E : : : : :
30,000 +++++feseesefd
B00E
B.007E b
> F H H . .
o S Cactiiet I
] E : : : :
10 S S SRS et SO
5] E : : : :
e R
s S S S
S S S S
75 N T N S
P e e e o
I C : : : : :
o N . . . . .
T T Rt N S
%0 =40 20 0 20 40 80

Sim. PV z (cm)



	Contents
	Page 1


